ETP
Commerce

Total No. of Pages - 3 l JACl

gl & FA A ;3

FEvE Hfvfoe uftag
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Total Time : 3 Hours 15 minute Full Marks : 70
FATE: 392 15 fime quile : 70

General Instructions / mﬁim :

1. This Question Booklet has two Parts — Part-A and Part-B.
39 Y- § S WM — WR-A qu1 WWLB §)

2. Part-A is of MCQ Type having 25 marks and Part-B is ol Subjcctive
Type having 45 marks.
WM-A § 25 3F F qgfaFedia I au We-B § 45 37w & fwafs g §)

3. The candidate has to answer in the Answer Booklet which will be

provided separately.

qhiemeff #1 A | IqcTed FS T IT-YiErnT d I < R
4. Part-A — There are 25 Multiple Choice Questions having four (4)

options ( A, B, C & D ). The candidate has to write the correct option
in the Answer Booklet. All questions are compulsory. Each question

carries 1 mark. There is no negative marking for wrong answer.
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gl # Im-yfeEm § @8 W e 21w yw afed s T

1 3% &1 81 T I F e+ 3 s 78 o)

Part-B — Thcere arc three scctions Section-A, B & C.

This part is of Subjective Type having Very Short Answer, Short

Answer & Long Answer Type questions. Total number of questions

Section-A — Question Nos. 26-34 arc'Very Short Answer Type.

9.
is 23.
Section-B —
Bection-p —_
TLV(XII)-55092

Answer any 7 questions. Each question carries

1 mark. Answer the questions in maximum

one sentence each.

Question Nos. 35-42 are Short Answer Type. Answer
any 6 questions. Each question carries 3 marks,

Answer the questions in maximum 150 words each.
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Candidates are required to answer in their own words as far as

practicablc.

qﬁmﬂwra'wmhﬁliﬂmiy
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7.

Candidate has to hand over his/her Answer Booklet to the

Invigilator compulsorily before leaving the examination hall.
witemrefil qhen wa7 vigd & wger A IW-yfeva derw ' Hard w9 2
@erg |

8. Candidatcs can take away the Question Booklel after completion of
thc Examination,
wen JUH B % I wlenel w-gfRm o @y de W w3
TLV(X1).55092 XC-ETP-(OPT.)-C
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Part-A
qam-A
( Multiple Choice '!‘ype Questions )
( TR R )
Qucstion Nos. 1 to 25 are Multipl.e éhoice Type. Each qucstion has four

options. Sclect the correct option and write it in the Answer Sheet. Each

question carrics 1 mark. 1 x25 =25

YH HET 1 8 25 0% Gglahedld YHR §1 TR ¥ ¥ O e §) o fwey

T I Yt § ford) @ 99 1 S F Q1
1. Which of the following is an element of sensing the opportunitics ?
(A)  Ability to perceive (B) Insight into the change

(C) Innovative quality ~D) All of these
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A) @ < afe (B) aRad WA
(C) TawSdAE 1O (D) FHadf
2. Incentives arc not concerned with
(A) Rebate
(B) Excmption from tax
(C)  Provision of seed capital
AD)  Lumpsum payment -
ﬁ FPNREYIY
A) wea (B) agfrA
() dafh A (D) T
TLV(XI)-55092 XC-ETP-(OPT.)-C | 6 / 31
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3. Market Demand is also known as

(A) Dcmand-Forccasting (B) Rcal Demand

(C) Supply (D) Nonec of these

mﬁnﬁaﬁﬁnﬁﬁmﬂﬁé?

(A) lﬁﬂiﬁ‘!ﬁwﬂ (B) arfas win

© # o w2 9 7
4. An entreprencur prefers whi(‘:h fohﬂ of oi:ganization if production is

*

to be undertaken on small scale basis ?

(A) Solc Trade JB) -Partncrship

(C) Company (D) None of these

31
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uﬁmiﬁi&nﬁmm@a’l@wﬁmﬂm%%ﬂmﬁm

w8 ?

(A) THR =R (B) @

©) wER (D) ¥ A F T

T is defined as discovery of busincss opportunities.

‘ﬁ\) Marketing (B) Innovation

(C) Promotion (D)  Nonc of these

rrereeesss; ) HTEHIS ATE H W F w9 gfonfia K St 21
. (A) T (B) aNEd

(C) w&H ) v AP Tl
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AA) Investment

JAC

According to Georpe R, Terry, the types of planning arce

€ 4 (D) 2

ﬁm.éﬂ%mﬁﬁm%m%‘

(A) 8 (B) 6

€ 4 'AD) 2

Money spent on the preparation of projecct is

(B) Expenditure

L]

(C) Wastage (D) Nonc ol these

[TLv(x11)-56092
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10. Factor intensily oricnted projccls arc

(A) Capital oricnted projccls

(B) Labour intensive projects

(C) Technology oricnted projccts

(D) Both (A) and (B)

HRH Faedl IE AR §
() o I aRaeEd
(B) ™ & qRaeATd
(C) wwHih I@ IRAAT

D) (A) 3 (B) A
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What does break-even point show ?

(A) Profit (13)

(C)  Ncither profit nor loss D)

ou-faeag fomg R wave &t @ 2

(A) <™ (B)
(C) T @m™ A g (D)
DPR is a/an

(A) Working plan «(B)

(C) Implementation plan (D)

LLoss

Nonc of these

8 4 *I3 TE

Action plan

Nonc ol these

XC-ETP-(OPT.)-C
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7. Describe the factors affecting the working capital.
S $f B il +@ a1@ = w7 aol =
}18. Describe long-term and short-term sources of business finance.

S faa ¥ dderea 3R arcawela @l %1 9ol &K

31 / 31
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e ¥ TR FR W s R T v R
(A) fraw (B) 4

() = D) T A FH T

A projcct is.

/(A] . Cluster of activities (B) Single activity

(C) Both (A)and (B) (D) None of these
v R 8
(A) Tfafaitel %1 aqg (B) uwwa nfafafy

(© ()3 (B) 3 (0) ¥ A B T

" [TLv(x1)-55092 |- XC-ETP-(OPT.)-C 1077
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9. Project identification deals with

(A)  Viable project idea

(13)  Logical opportunity
(C)  Effective demand ‘

([.:)] None of thes;c

() = A RER @

(B) a6 et &

() e st 8

o) ¥ &=k T
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(A) S T

(B) HHEETE Al
) s @
(D) ¥ | F§ A&

13. NPV mcthod rclates with

(A) Time valuc of moncy

(B) Inflatcd valuc of moncy

(€) Present value of money

4

(D) None of thesc

TLV(XII)-55092 XC-ETP-(OPT.)-C
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(A)

(B)

(€)

(D)

gl 1 9 4oy
51 R A @
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14.  Which of the following is a kind of resource and its sources ?

(A)

(B)

(C)

< (D)

Physical resources

Technical resources

Human resources

All of these

TLV(X1).55092 XC-ETP-(OPT.)-C

15 / 31



JAC Commere:
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(A) ifees wEuE (B) dehAtehl GETUH
(C) WFE dE (D) FHa@f

15. The source of working capital is

AA)  Debtors
(C) Cash sales
W f:ﬂ.ﬂil CIGH
(A) TR

) Usd faswa

TLV(XII)-55092

(B)

(D)

(B)

()

Bank overdraft

All of these

a4 Jrfufaed

0 @ axf)
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16. Idcal current ratio is
(A) 2:1 (B) 1:2
[C] 3:2 . (D] 4 -1
3TTeY =] 79T Bl 2
AA) 2:1 (B) 1:2
(C) 3:2 (D). 4: 1

17. Project is preparcd by

(A) Promoters 4B) Managers

(C) Entreprencusg=— D) All of them

17 / 31
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i dan A ) 2
(A) T g . (B) WeRUHI gHI
(€) g (D) gHawh

18. Increasc in Fixed Assets due to cash purchasc is

(A)  Sources of fund {B)  Application of fund
() lrjlﬂow of fund - (D)  Nonc of these
‘. R T % B TRt eof i gfg 2
(A) m’h 1 H B)  ® % wam
(C) N F g | D

TLV(XII)-55092

18/7



JAC __ETP

Commerce
19. Nect working capital mecans
{A)  Current Asscts — Current Liabilities
(B)  Current Assets + Current Liabilities
(C)  Current Liabilities - Current Asscts
(D) Nonc of these
g Hrfie gt &1 Y 2
() e wwfa - =1 R
B e wl + wr a
() e i - e wefe
(D) ¥ & Bt T
19 / 31
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20.

Venture capital contains
AN High Risk .

(C) No Risk

et §oft 3 T R

(A) = fEw

© AT

@) = e

(D) wTeREs SRew

21. Labour-intensive technique is useful for

JA)  developing countries
(B) decvcloped countries -
(C) backyard economies
(D) none of these

| TLV(X0)-58092
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(3) Low Risk
(D) Venture Risk
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s -11g4 Senfihl syahf 2 |
(n)  fawmeis qu &g B) frefm 2wl &

) Rodnlemenaizg (D) TH 8 FE A

22. Marketing expenditure is a burden on

(A) industry (B) busincssmcn

_e) consumers (D) all of thecse

fyqur =54 WR 8
n) @ (B) oHEEIRR W
) ImirEsd T CEAGARS

xc_ETF—[Oﬂ-"c
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23.  Nakcd debentures arc

(A\) Fully sccured

LC Unsccured

T F TF B &

(A) o giiEa

(C) gl
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(B) Partly sccurcd

(D) Nonc of these

(B) anif¥rs giitma

(O) ¥ A% T

24, 1DBI was established in the ycar

(A} 1944

2 1964

TLV(XII)-55093

(B) 1954
(D) 1974
XC-ETP-(OPT.).C
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IDBI fFa 2 wfda ) o »
(A) 1944 (B) 1954
(C) 1964 (D) 1974

SFC Act in India was passed in the year

(A) 1948 - (B) 1‘949

() 1950 D) 1951

SFC Fiftfm yra # g o wiita foen w0 2

A) 1948 (B) 1949

€ 1950 (D) 1951
' xC-ETP-(OPT.-C
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( S:lbjective Type )
( Tyerafs w9 )
Section - A
@ ug - A
( Very shlort answer type questions )

( wafa org Iwlia 9 )

Answer any seven questions. Answer the questions in a maximun

of one sentence each. : | x 7 =1
fordl @A Yl % IW Q| TS T F1 IW IAF Nfoehan T are § 3
1,26. Who is an entrepreneur ?

i AR ?

[TLV(x1)-55092 XC-ETP-(OPT.)-C ) 3
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27 What is equity share ?
U W R
28. What is business ethics ?
TEATR® AR =1 8 ? | .
29~ What do you.understand by accpuntir'ng ratio ?
A@iwA IIIE H 3T g e
30~ What is meant by marketing management ?
forqur wa ﬁ = AR §? \

25 / 31
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31. Writc any onc distinction between Brand and Tradem

FwE uE Fearh H s s e fafEw)
A2, How many levels of mana%;cmcnt arc there ?

wui e E?

] Ve
23’. What do you mean by Fund Flow Statement ?

Sy arg fraor | I wn R §

é What kind of capital is required for the Purchase of land ?

TLUﬂII. }-85092 xc-m-(op-r_],c
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Section - B
TUg - B
( Short answer type questions )
(vg swfa uw )

Answer any six questions. Answer the -questions in a maximum

of 150 words each. . 3x6=18
Rl B: Sl 3 T 31 5 s 0 s e v 150 71 8
.35, What is the purposc of packaging a product ?

: : ‘working capital.
fixed capital and wor

. ifferences between

36. Write three diffe

=t goft T FAI e e i

27 / 31
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37. What is financial planning 5 Discuss its importancc 10 an

cnterprisc.
fa fisa w2 ? ﬁﬁ&hmﬁquﬁaﬁaﬁaﬁt

38. Mention the responsibilitics of an cntrcprencur towards the

cnvironment.

qatam & vt seft & it @1 3g@

39. Differentiate between wholesaier and retailer..
v sl @ wm ¥ 3 we H

#9. What are the causes of.nccd for t'cchlnolow ?

sreifrdl 6 FaWHA F TN FOTE ?

TLV(XII)-56092 XC-ETP-(OPT.)-C . 0g / 31




JAC Commers

44. Explain dilfcrent kinds of capital.
gt & faftm gl &1 aols &L

45. Why is sensing of opportunities essential ? How can sensing of

opportunity be develdpcd in an entrepreneur ?

mmﬁumﬁm%? Ioft § e 91v FA fafa e @

ehal 8 ?

~46. What do you mean by marketing concept ? What is the nature and)

scope of marketing ?

faqui it FAURON B AT T T9H R ? Rovm o1 v w8 TR ?

TLV(XII)-65092 XC-ETP-(OPT.)-C 30/ %
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I Whant in Marled Anneanment 9 Why in it necded 2

NI A 901 Rl 2 2 o qdl spevae, § ?

12 xplmn e dillerence between Shares and Debentures,
MU N i o ol s agw @l
8ection - C
avg - C
( Long answer ty?e questions )

(Sd Iwfiaoa )

Answer any four questions. Answer the questions in o nioain .

of 250 words cach. 5 «
1

Rl um St F I 31 TAF T F1 IN IGF H(uFAT 250 5@ 4 ¢

ibe its essential characteristics
3. Define management and descri

Ty ) g AR TE vaeh iy R @re

29 s 31
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